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M1
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139,174
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803, 100

8,695

>
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0zt
H0
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M H1

685,865

126,608
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677,300

8,565

MIEXAIE 2

(At SXAIE BEALR EX==Z)

M

593,635

118,728
474,907

591,120

2,515

307 212t0l A

M

593,635

118,728
474,907

591,120

2,515

OAMEFXAIL

OAMSXIAIE

SIS HIE)
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OAMI =X 2

OAMFXAIE

OAtEI =2 XD 2
HA)

AL SXIAMEE X

EAA XL (F0He)
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M

SANX SX = (A2NHETU2

156,000& x5H « 122

M H1
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108,500 300 «12&

M

SAKF A M AL (FOope!)

150,000& x6 & «12&

M

SAMI SX=E (X, 01S)
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M
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89,860 »3H x12&

M

593,635

147,960

29,592
118,368

9,360

1,872
7,488

390,600

78,120
312,480

10,800

2,160
8,640

31,680

6,336
25,344

3,235

648
2,587

591,120

2,515

A2 SXIAIE SAHL
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M

1,760

880
880

2,100

340

307 glztol
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1,760

880
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M =X

3 Atel=X2g 2l

Sl AEEE 2%

o - = PSEE
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
06 28= 1,760 2,100 N340
OALASXIAIE SAHAL Mol 28 Jtaldl
5,000& «352& 1,760
< 880
= 880
MHolt==57L 5,720 5,720 0
201 Zet=dhl 720 720 0
02 s5=3H 720 720 0
Ol SHEEAMAHE MES
60,0003« 10 =123 720
307 212t01 A 5,000 5,000 0
0122 +=Hl 5,000 5,000 0
OMoit=E2=2 7L 200,000& 258 5,000
MISXAMEIA BT 2 SE 900 900 0
202 044 900 900 0
01 =W oHI 900 900 0
OAt2 =X MHlAus 2 82 100,0002 *92 900
KNA=SXALS Dl ZA(XNSMIIEHE M 22X 62,660 62,660 0
)
S 7,000
= 55,660
201 Zet=dhl 8,660 8,660 0
01 At 22l 8,660 8,660 0
OXNAIEHA & (AL UM X Blo5=E
70,0003 %1921 +23] 2,660
OS8XA2HE AN 243 XA
1,000,000 *69H 2= 6,000
307 212t01 A 54,000 54,000 0
< 7,000
= 47,000
10 MSXNALHE2EHIEX 54,000 54,000 0
OXgAI 28N 43t K&
13,500,000« 10 A %42 D | 54,000
S 7,000
= 47,000
sl ARN2AE 29 4,900 4,900 0
201 fet2E| 2,000 2,000 0
01 AtR2telH 2,000 2,000 0
O3IL=SXNANAANY T2 2
200,000 =104 = 2,000
202 044 900 900 0
01 =W oddl 900 900 0
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M =X
3 Atel=X2g 2l

& A2 E 29 (che &S
- _ - &
SA - ZH - ER(E) - ATAY - BES Ol & e HDEY
O3 U=XKIAMNY SR =
90,0002 *10JH & » 12! 900
203 PR =2l 2,000 2,000 0
03 Al FXH R A 2,000 2,000 0
OMEI=X ANHARFA 2,000,000 =14 2,000
SEZAIER =& 10,240 5,700 4,540
201 et Iy| 7,540 3,000 4,540
02 2322l 7,540 3,000 4,540
Ooxtg sA=all 1,000,000 *4& | 4,000
OANEY -8 dIRBE 23
120,000 * 1204 & 1,440
OllsdsR=a 35,0002 «5CH = 1200 & 2,100
202 04| 2,700 2,700 0
01 2oyl 2,700 2,700 0
OSE XA EXEE M8 A =AM
270,000« 102 2,700
SADT(RE)ES 2el 6,050 3,000 3,050
301 LetE8NZ 6,050 3,000 3,050
01 A2 EE 23613 6,050 3,000 3,050
OS2l At2X ZH Y] 1,350, 000 %33 4,050
ORgeol 25| 40,000 500! 2,000
NSAS SXHAH 2= 125,930 125,800 130
= 12,566
= 113,364
MZIEXES 29 L ABSXM2 25 X 101,930 101,800 130
(= 12,566
i 89, 364
201 L2 Y| 10,330 4,800 5,530
= 2,066
i 8,264
01 AtR2teltl 10,330 4,800 5,530
oM =ERbIZ s K&
5,000&*172. 169 *12& 10,330
= 2,066
i 8,264
307 2I2t0I A 91,600 97,000 A5,400
= 10,500
i 81,100
10 AL SXAEHER2HHIEXR 69,600 75,000 A5,400
OA3I=XE2s 2 5,800,000 123 69,600
= 9,400
= 60,200
11T AL SXAIE E = 22,000 22,000 0
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M =X
3 Atel=X2g 2l

Sl NHABIS XA 25 EERE
o - = PSEE
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
OM=XEoz 22082 & A=SXIH
3 = 5,500,000& 1 A *43] 22,000
< 1,100
= 20,900
olss=xg 23 12,000 12,000 0
307 212t01 A 12,000 12,000 0
M AIRRISXMEE X 12,000 12,000 0
O0ls S=EXtE 23 X& 1,200,000 104 12,000
OlSHIEXE 28 X 12,000 12,000 0
307 e1z2tol A 12,000 12,000 0
AR STIMEEX 12,000 12,000 0
O0ls HEXE 22 X& 1,200,000 *104 2 12,000
2g d¥ 1,237,494 866,499 370,995
< 89,460
= 1,148,034
=t 2& 2l & N& 1,205,754 834,759 370,995
< 89,460
= 1,116,294
=IIR3A L 2 2el 909,994 720,959 189,035
201 £et2E| 900 900 0
01 At 22l 900 900 0
OLtctAtg u s ZAI= 200,000% =18 #23] 400
OUctAtE NS a2 2l 10,000 »50% 500
301 Let2d3 712,000 562,000 150,000
01 M2 2EH 6= 712,000 562,000 150,000
O=It7EA =& X& 712,000
o=2=du+¢g 100,000 x260E x 1204 & 312,000
oF&Hu=& 100,000 *260F 1204 & 312,000
OFERSIA & IIVNESUHLUMMEAZS
200,000& 20 4,000
OHFSDL HISK =X+
50,0002 140 =120 = 84,000
307 212t01 A 186,294 118,259 68,035
02 QItHMAMNHE X 15,350 15,350 0
OEZHH At N2 (S8=AU)
3,350,000 *1JH S Al 3,350
OBINRBN MHX| At X2
1,500,000 *8JH =&l 12,000
03 elnHMEE2SHIE2xE 170,944 102,909 68,035
oO2=tH 24l X2 (8HH)
36,640,000« 14| 36,640
O=EEZCH ldl X (8HEH)
134,304,000 14 134,304
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SM: 22X
Hi: 25 4
cer 20 BE 22l ¥ XY (el &2
- - - bS]
2AH -3 ..SA(ZAH) - HIRAIS - BHAES Ofl AFoH OW'ENEH Hunsz2
401 AlEHIL 20| 6,000 0 6,000
01 Al&HI 6,000 0 6,000
OBE32 AleE2 6,000,000 *1J A 6,000
402 DI2FXH=0| & 4,800 39,800 35,000
01 IZFRHEAMS B R (KAL) 4,800 39,800 35,000
oOB&cHH IR X
4,800,000 14 E+ X 4,800
BEOH XY L EEAY FI(SERI2A L = 6,000 9,000 23,000
o|2H| Xg)
[= 1,200
= 4,800
307 @I2+0| A 6,000 9,000 23,000
[= 1,200
= 4,800
01 9222yl 6,000 9,000 23,000
OSERBX ¥ 8= 22H XL
1,000,000 x6H 6,000
[= 1,200
= 4,800
BEOH XY L EEAY FI(SERI2A @1 2 3,000 4,000 1,000
2l Xe)
[= 1,500
= 1,500
301 YBEAZ 3,000 4,000 1,000
[= 1,500
= 1,500
01 M EEEAF2 3,000 4,000 1,000
O=SBRI2A DX QHHE &X| X
1,000,000 *32| 3,000
[= 1,500
= 1,500
HEOH XY 2 BEAAZTI(LACEHH S 286,760 100,800 185,960
NE
[= 86,760
= 200,000
301 LUBEAZ 86,760 100,800 A 14,040
[= 86,760
01 M EEEAF 2 86,760 100,800 214,040
OLAT HEHOMSY 30,000 *12& x241H 86,760
[= 86,760
401 AlEHIL 20| 200,000 0 200,000
01 Al&HI 200,000 0 200,000
06.25% A FAI|IEH HE
200,000,000 * 1Al 200,000
2|19 AL 2H 31,740 31,740 0
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A=
g 2
el =2

- _ - &
SA - ZH - SA(SH) - MRAY - BES 0l el S HRE2
312 A 22 14,600 14,600 0
201 et Fy| 10,000 10,000 0
03 SEAI2ZEH| 10,000 10,000 0
©3.12 AtHI 6,500,000& *1JH 2 6,500
©3.12 =2H H=+< 3,500,000& 100 2 3,500
301 YPYBNZ 4,600 4,600 0
09 HALAIHIXIAZ 4,600 4,600 0
03.12 |5 24 8,000& 200 1,600
O©3.1& &AL EAHX B432 500,000 *6IH A 3,000
=Y At 2Y 12,040 12,040 0
201 et gy| 3,000 3,000 0
03 EAH2ZH| 3,000 3,000 0
Q8 =Y A 3,000,000& *13l 3,000
301 LEEF 4,040 4,040 0
09 HALAHIXIAZ 4,040 4,040 0
Oz A =4 8,000& *380H 3,040
OS=Y AL SEHI EAS3 250,000 44 2 1,000
401 A& HI YL 20HHI 5,000 5,000 0
01 Al&HI 5,000 5,000 0
OEEANE RXNE= 2,500,000& *2I4 2~ 5,000
6.25 DG &AL 29 5,100 5,100 0
201 et Fy| 3,500 3,500 0
03 A2 ZH| 3,500 3,500 0
©6.258 2 J| S AL 3,500,000 * 100 2~ 3,500
301 LB F 1,600 1,600 0
09 HALAHIXIAZ 1,600 1,600 0
©6.25F M J|geiAt BATHIIIRSAH)SA
8,000& x200H 1,600
MASE MEtdE X AS 691,817 758,675 66,858
= 236,913
s 239,000
& 21,458
s 194,446
HASE NEXEAAY 614,417 681,275 266,858
= 194,133
s 239,000
< 21,458
i 159,826
225 SXXE AL 242,667 236,150 6,517
= 194,133
& 9,708
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A S
HxH: HAS
(=R .

&el: HASE NEXZAY (el &3
_ &
SN - FH - S(SH) - MRAY S dImEET
s 38,826
301 LB F 242,667 236,150 6,517
= 194,133
& 9,708
i 38,826
01 A2 EEE 062 242,667 236,150 6,517
022 SAXE At 2,426,670& 1000t 242,667
= 194,133
< 9,708
i 38,826
NS AMSIMHIA EXAIS (KIS ALS HHIA SR 298,750 266,125 32,625
A XA, 2ZH XI)
s 239,000
& 11,750
s 48,000
201 LetEdy| 4,500 3,500 1,000
s 3,600
i 900
01 AtR2teltl 4,500 3,500 1,000
OXNGASIMEIAETIAIY 2
375,000 1201 & 4,500
s 3,600
s 900
202 04l 500 500 0
s 400
s 100
01 =L YI 500 500 0
OXNGAIIMUIAFETAIY HRF
50,0003 *1E 104 & 500
s 400
s 100
307 QI2+0I A 293,750 262,125 31,625
s 235,000
< 11,750
i 47,000
05 BIZtRE S 293,750 262,125 31,625
OX A2l MEIASE XA 73,437,500 42| 293,750
s 235,000
& 11,750
s 47,000
MASE HZ2E= Uy 73,000 64,000 9,000
301 YPYBNZ 73,000 64,000 9,000
01 A2 EEE 062 73,000 64,000 9,000
ONASZTD ALLHE My
6,083,333&*12& 73,000
IIIAtAI 22l Ot K& A 77,400 77,400 0
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SN =X
B HASS MBOF NAY

el AINAr 220t XI& A

- _ - &
SA SR (S) - MRAY - BAS il &t S
= 42,780
o 34,620
A2 SeArd2el K& 15,000 15,000
= 7,500
i 7,500
201 LBr2Fd| 6,500 6,500
2 3,250
i 3,250
01 AL 22l bl 6,500 6,500
OAtdl2tel 238l 448,333& 128 5,380
= 2,690
i 2,690
O EREN2RE 3o+ 70,0002 x8H 23] 1,120
= 560
i 560
202 o44| 1,000 1,000
= 500
i 500
01 = LHGYI 1,000 1,000
OS& At 2eIAF BE ol
200,000& 121 %53 1,000
2 500
= 500
301 YPYBNZ 7,500 7,500
2 3,750
o 3,750
01 A2 EE 3613 7,500 7,500
OAtcll2tel Aty 2 X& 1,875,000 *43| 7,500
= 3,750
o 3,750
SHES XEE SEFAMHIA XA 50,400 50,400
= 35,280
o 15,120
201 et Fy| 24,150 24,150
= 16,905
o 7,245
01 At 22|l 24,150 24,150
OArell2te] 29 XA (g, S S
) 4,025,000&+6IHSH 24,150
= 16,905
i 7,245
202 o44| 1,050 1,050
= 735
i 315
01 =G YI 1,050 1,050
OSE At ZelAl s ¢l
150,000& » 121 +73] 1,050
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SA

X ZH -
o =

=X ot
HASS MEOIY XA

SR ROIAI 22O RT3 ALY (el &
o - = PSEE
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
= 735
= 315
301 2et2d3 25,200 25,200 0
= 17,640
= 7,560
01 M2 2EE 6= 25,200 25,200 0
OAteIZel ALY XIHI (28], 42 X2 &)
4,200,000& 61 S 25,200
= 17,640
= 7,560
FIDTAt 220t XI& 8,000 8,000 0
307 212+l 8,000 8,000 0
M AIRRISXMEE X 8,000 8,000 0
OfJl2el tHalt= 2tFHe
2,000,000 47t 8,000
ROt S 22 4,000 1,000 3,000
201 £et2E| 4,000 1,000 3,000
01 AtR2telH 4,000 1,000 3,000
OCIZY (XFESM) MA S
4,000,000 =14 4,000
=2 J|z=dg 2% 7,370,383 6,733,724 636,659
= 5,752,057
[ 71,000
< 646,748
= 900,578
J=dE2d+2 A A& 7,370,383 6,733,724 636,659
= 5,752,067
[ 71,000
S 646,748
= 900,578
A= 0 5,634,900 4,981,006 653,894
= 4,507,900
< 563,500
= 563,500
301 Let2d3 5,634,900 4,981,006 653,894
= 4,507,900
< 563,500
= 563,500
01 Al Ed XM +5l= 5,634,900 4,981,006 653,894
OF-P =1 469,575,000 x 12 5,634,900
= 4,507,900
S 563,500
= 563,500
nEz0 6,731 7,302 A5T71
308 AHXIEHHMSOIH 6,731 7,302 A5T71
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FA S
M 20l J|ZME PE
R DI zdERYESTA A (ctol: &3
SA-BY.SASH) - RN - B ol &t e DS
08 I 20Ut X 6,731 7,302 A5T71
© W=E=0 OIH 6,731,000 14 6,731
RN ESPNE=AL 44,800 37,995 6,805
= 35,800
S 2,700
i 6,300
301 2283 44,800 37,99 6,805
= 35,800
& 2,700
= 6,300
01 M2 2EH 0= 44,800 37,99 6,805
@ FN =P E=1C] 44,800,0003 =14 44,800
= 35,800
S 2,700
i 6,300
MNe22 N2 ¥ 2AN2HE2E (K22 1,190,473 1,193,000 AN2,527
2 X&)
= 952,379
& 71,428
= 166, 666
307 212+l 1,190,473 1,193,000 AN2,527
= 952,379
& 71,428
= 166, 666
N AR SXIMNEEX 1,190,473 1,193,000 N2,527
oxgZ2ZAtY 1,190,473,0002 * 101 2= 1,190,473
= 952,379
S 71,428
i 166,666
Ne22 NAR2HE ¥ 29024 2 (KSR 227,065 223,197 3,868
SHlE 29)
= 158,946
= 68,119
307 212+l 227,065 223,197 3,868
= 158,946
i 68,119
10 M STAELEHE2SHIEX 227,065 223,197 3,868
OXNHXZ2dH 2 227,065,000 *17H & 227,065
= 158,946
i 68,119
NAXES ASIMHIA SXAIY (OtARIE 22 X 88,800 110,000 A21,200
)
= 71,000
= 17,800
307 212+l 88,800 110,000 A21,200
= 71,000
i 17,800
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M =X
M 20 I zME B
o9l JZMBRELDT XY (el
= MNzH . OOl (5 HAlIO . HAZ }OH HEE =2}
Tkl'o—|'|_'l‘|(21)")'k"—rAl'l=l'n_o—1 O:Hﬁﬁ O:H&.OH t”DLEI:I
05 QIZtRIE S 88,800 110,000 A21,200
OMASESSXAL (OtARIEE20])
22,200,000 x42 2| 88,800
2 71,000
= 17,800
FEWIARAXRA 42,000 42,000 0
307 212+01 A 42,000 42,000 0
11T AR S XAIE 2 X 42,000 42,000 0
OFCEW3 2Z 10,500, 000 * 10 A *43] 42,000
NASSE SEXA (MR 2A=SXR) 18,000 18,000 0
< 9,000
s 9,000
301 LEIENZ 18,000 18,000 0
< 9,000
s 9,000
01 A2 EBE A0S 18,000 18,000 0
Oxtarel 22X& 1,000,000& 187+ 18,000
< 9,000
s 9,000
ZE2sY As 24 2 KA (51,21, 92,510 72,000 20,510
HEIISSE HEUXMSAHA)
= 74,010
= 18,500
307 glztol A 92,510 72,000 20,510
= 74,010
s 18,500
11 MIISTASEEE 92,510 72,000 20,510
O225AUSLINALLSNA(SYIISS
ZH) 255,833 x4 E 1201 2 12,280
= 9,820
= 2,460
OZ2sYJ=+SHAE=2 XA (LTSS
&2) 124, 7422 x13H <1204 & 19,460
= 15,570
= 3,890
O2zsHJY=rs AR (HLII2S
&) 294,020 x6H 1201 2 21,170
= 16,940
= 4,230
O2ZsHJY=+= A+ XA (H2EHF LI
sSE) 300,000 x 12+ 12J1 & 3,600
= 2,880
s 720
o2zsdUsrsXdg+sS XA (EEMSA
ESONECD) 300,000 * 10 1200 & 36,000
= 28,800
s 7,200
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FA S
Hm: 20 )|EMEB B
R DI zdERYESTA A (el &
. - - N
SA-BY.SASH) - RN - B ol &t S HIDE
=g A 2=l X2 21,372 17,900 3,472
= 21,372
201 2823yl 21,372 17,900 3,472
= 21,372
01 AtR2telH 21,372 17,900 3,472
OFSFL= 2A2|HI(HBHH) 1,781,000 x122 21,372
= 21,372
ANgHE2HA23 29 1,680 1,680 0
201 £t 1,680 1,680 0
01 AtR2telH 1,680 1,680 0
O%ds =Y 70,0002 621 %43 1,680
22 XA % ZAXtedl 238 (M2 2,062 24,644 N22,592
ad3)
= 1,650
S 120
= 282
301 Let2d3 2,052 24,644 A22,592
= 1,650
& 120
= 282
01 M2 2EH 6= 2,052 24,644 A22,592
ofltgdad=s 171,000« 12218 2,062
= 1,650
S 120
= 282
el =X 58 8,175,728 8,243,426 AB7,698
= 4,577,178
& 561,620
= 3,036,930
Zopel Maord X2 1,570,424 1,502,530 67,894
= 1,076,698
& 142,358
= 351,368
Foelds S0X2 1,322,147 1,252,509 69,638
= 925,504
S 118,993
= 277,650
301 LBtENS 1,322,147 1,252,509 69,638
= 925,504
S 118,993
= 277,650
01 M2 2EH 6= 1,322,147 1,252,509 69,638
oFMIHs X 110,178,916 & 122 1,322,147
= 925,504
& 118,993
= 277,650

- 286 -




=N =X
M Zojol =X S

ol ZOHOI MBOIN X

SN B CR(BH) - MRAY - BES 0l et

=[x

i

12H
Es
£
Ol
0

ZH==Z(DIx) K= 118,674 115,776 2,898
83,071

10,681
24,922

M H

301 LEHEN S 118,674 115,776 2,898
83,071
10,681
24,922

H A

01 At2| 28X =562 118,674 115,776 2,898
OFM==00Ix) XN& 9,889,500 x12& 118,674
83,071

10,681
24,922

HH

DO (HASIS) XD 96,320 95,600 720
67,423
8,669
20,228

HH W

301 LEHEN S 96,320 95,600 720
67,423
8,669
20,228

H A

Hdl= 96,320 95,600 720
g(XaS) XI@ 8,026,666 +122 96,320
67,423

8,669
20,228

M H

HEdZHe SaHIE K& 1,000 2,000 21,000
700
60
240

H A

301 LEHEN S 1,000 2,000 A 1,000
700
60
240

H

BEH=6= 1,000 2,000 1,000
OWAZ2 =4tHIE NI 1,000,000&«1H 1,000
700

60
240

HH W

ZoHe! DI =MEZHXEH 17,200 20,880 A3,680
3,440
13,760

M

307 glztol 17,200 20,880 A3,680

3,440
13,760

M

01 S+ =HI 2,800 3,600 2800
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=N =X
M Zojol =X S

St TOHO! MEBOLN X (et @
- _ - &E
SA -3 HAGA) - HEAY - BES Ol & oK 'Oﬂ'@oEu HuE2
OE0MY Hl=20 P& Poul Ad
100,00021 %102 1,000
= 200
2 800
OFOHQ HAA K& 100,000 *18% 1,800
= 360
2 1,440
1 A S XIAI B X 14,400 17,280 £2,880
OO LEZA XY 1,440,002 102 14,400
= 2,880
2 11,520
DO HAXIEHI| X2 8,352 8,352 0
301 YR HI 8,352 8,352 0
01 A2 ZEA62 8,352 8,352 0
OFOjOl AXEHI| 0ISE X
23,2002 %30% * 128 8,352
NAS SSTHUIIP R%s 01222 N 4,158 4,158 0
301 YR HI 4,158 4,158 0
01 AFSI 2 & 45123 4,158 4,158 0
ONASHIAINT RELS 01823 X
9002 x350t P +122 4,158
ZOHOIRIZF GHOITHA 2PIEHLI| SR XA 2,573 3,255 £682
= 515
2 2,058
301 YA 2,573 3,255 1682
= 515
2 2,058
01 A2 ZEA62 2,573 3,255 2682
ORONQIXIZ BHOITHA 2ALIEHAI| HX X
31,0002 =83CH 2,573
= 515
2 2,058
Zojol o2l X 17,050 17,050 0
2 13,269
= 756
2 3,025
CE SRS 2,725 2,725 0
2 2,180
= 109
2 436
307 212401 & 2,725 2,725 0
2 2,180
= 109
2 436
01 222 72| 2,725 2,725 0
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M =X
g e =X sd

el Zopel 2=Hl X3 (el &R

SN B CR(BH) - MRAY - BES 0l et

=10

] i

J2m
o
EJ
i
oy

OQFOQ EXI|P WL 272,500 x 10 2,725
2,180
109
436

M H

zHopolol 2| X2 13,089 13,089 0
10,471

524
2,094

H A

307 2I2t0l & 13,089 13,089 0
10,471

524
2,094

H

05 QIZtRIE S 13,089 13,089 0
oz 2=Hl K& 3,272,250 42| 13,089

10,471
524
2,094

HH W

MASZEOe! e Y HAH A& 1,236 1,236 0
618
123
495

H

307 212t0l A 1,236 1,236 0
618
123
495

M H

<
© Lo
>
B~ e

=l 1,236 1,236 0
ool Mgl 2 ZAHHl X1

82,4008 »15& 1,236
618
123
495

n

07

H A

ZoHel Atslgs K& 282,073 241,565 40,508
117,304
44,461
120,308

M H

ZOHQ! ASIEO ESKIJ 900 900 0

202 04l 900 900 0

01 SLHOIHI 900 900 0
OFO =X &#HAH =& 046 100,000& <92 900

ZOHQ! et L Xie 234,608 229,500 5,108
117,304
23,461
93,843

M H

101 QI24H| 234,608 229,500 5,108
117,304
23,461
93,843

M H
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M =X

g e =X sd

el FOHQ APSIEE X (S5 A2
- _ - &
SA - SRA(SAH) - HRAY - HES Ol & oK '(EI&OEH HuE2
IR EESN=TES 234,608 229,500 5,108
OOHl YBHE AXj2| X
2,172,206 2 %9% + 122 234,608
= 117,304
= 23,461
2 93,843
ZOHOI MEBEO B 4,565 4,565 0
201 YEr2 Y| 4,565 4,565 0
01 AbR2t2IH] 4,565 4,565 0
OIS ARAY RSB (MR, 340
337,5002 *43| 1,350
OFOHY BMOASZH R XSE 7Y
121,5002 « 105 1,215
OFOUNSA EX 7Y 2,008 *1,00004 2,000
A DESIZ N 42,000 0 42,000
= 21,000
= 21,000
301 UErEIZ 42,000 0 42,000
= 21,000
2 21,000
01 MBI 2 ZEA63 42,000 0 42,000
OF0j DEEVZAS N
42,000, 00021+ 14! 42,000
= 21,000
= 21,000
ZOH BoNE 2% 212,450 130,471 81,979
= 25,933
= 186,517
Zojol o2 2 9,000 10,200 A1,200
= 1,800
2 7,200
201 LBt Y| 9,000 10,200 A1,200
= 1,800
2 7,200
01 AbR 22| bl 9,000 10,200 A1,200
OFOHYl ASPSE XI¥ 50002 1502 +128 9,000
= 1,800
2 7,200
DNl BMOIAIM 25 173,450 120,271 53,179
= 24,133
2 149,317
307 212401 & 173,450 120,271 53,179
= 24,133
2 149,317
N FEEEETEES 44,781 39,606 5,175
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M =X

g e =X sd

Sl ZOHQ! BOAE 29 (et @
- _ - &E
SN ZH - S(S) - MRAY - BAS Ol &t o S dImEET
0L FOHY BOANANAHME =0l
11,195, 25021 % 1 4 42 | 44,781
= 8,000
2 36,781
11 MBI S RIA R X 128,669 80,665 48,004
OO Zararga 2|
32,167,250+ 17 A #4220 28,669
= 16,133
2 112,536
DOjOISEAEA I SESAL (HSXR) 30,000 0 30,000
402 P12 XH2 01 H 30,000 0 30,000
01 QIZXHE AR E (KM THR) 30,000 0 30,000
O HQAZE ASA I SBUAS (HSXR)
30,000, 0002 * 14 30,000
Zojel RRIAIL X 6,093,731 6,351,810 £258,079
2 3,369,907
= 348, 112
2 2,375,712
Zojol MATHEAIY 2 (2SHAT) 193,970 182,000 11,970
307 ©I12H0I & 193,970 182,000 11,970
05 QI2HPIEr S 193,970 182,000 11,970
OFOHQ BEEAT QIAY|
38,356,000 +42 | *1H £ 153, 424
OO BEXAT 2|
10, 136, 5002 #4271 17 2 40,546
Zojol MATEAIE 22 (Z02 LH) 290,926 304,224 ~13,298
307 QI12H0I & 290,926 304,224 ~13,298
T NEEEEETEES 290,926 304,224 ~13,298
OFCt2 LE AAY X
64,827 50021 17 A #4520 259,310
oFCt2 LE 2l ¥
7,904,000 17§ A #4520 31,616
BONOIRATHE AL I S2AAY 8,000 194,636 186,636
2 4,000
= 4,000
402 P12 XH2 01 H 8,000 194,636 186,636
2 4,000
= 4,000
02 QI XHE A2 E (O R THR) 8,000 194,636 186,636
ORONOIEATIEAIL I SHLA (B LE
) 4,000,0002* 174 2 4,000
2 2,000
= 2,000
OROHOIEATHEAIL I SHLAIY (BESRAR
) 4,000,00024 #1742 4,000




2A: =X
Nz FOHOl 22X =&

el HoHel SXAIE X2 (el &3
% = &
SN B CR(BH) - MRAY - BES 0l et S HRE2
= 2,000
< 2,000
ZOHC! MHEXJAHE 22 40,437 40,870 A433
& 8,087
o 32,350
307 SI2toI & 40,437 40,870 A433
& 8,087
o 32,350
11 MSI=SXAMEE = 40,437 40,870 A433
OAZLZ 04O RBXBME 2
10,109, 250% * 104 A +4=2 D 40,437
& 8,087
o 32,350
NEFOHR NEXALMH 2 51,589 53,011 N 1,422
307 QI2+0I A 51,589 53,011 N 1,422
10 MSISXAIEEHER2IHIEX 51,589 53,011 A 1,422
OXEZOR XHXRHEH 24l
9,220, 750& * 10 A +42 | 36,883
OXXEOL XANSXNAMH 2|
3,676,500 * 1 A +42 | 14,706
ZOHAAHFAIE 2SR 3,053,863 3,778,550 ANT24,687
= 2,137,704
< 183,232
i 732,927
307 SI2toI & 3,053,863 3,778,550 AT24.,687
= 2,137,704
& 183,232
i 732,927
10 MBIEXAIEHE2IHIEXR 3,053,863 3,778,550 AT24.,687
OX¥L20ts 2ZH XA
3,053,863, 000 * 104 2 3,053,863
= 2,137,704
< 183,232
i 732,927
ZOHCIHFTAIE S XA(ZHI) 17,052 24,360 27,308
< 3,410
i 13,642
307 QI2+0I A 17,052 24,360 A7,308
< 3,410
i 13,642
11T AL SXAIE E = 17,052 24,360 A7,308
OZMUANFAIE dgo XA
1,421,000 «1H 123 17,052
< 3,410
i 13,642
ZOHAIHFAIL 22 K2 (XHAI) 39,000 0 39,000
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M =X

g e =X sd

Sl ZOjOl ZXAE X2 EERE
= X XH Ct2l (S = o HASZ OH x‘—-IL'i'E =2}
Tkl'ox—|'|_|"l‘|(21)")'k"—rA|'|=|"}£o—1 0:"‘&'—| O:H&.OH t”DLEI:I

307 QI2+0I A 39,000 0 39,000
10 MBIEXAIEHE2IHIEXR 39,000 0 39,000
OFOMAAN=AE 2 XA (KA
9,750,000& 42|+ 1LH 39,000
ZOHAAHFAIE JISEZAS 82,000 6,300 75,700
= 41,000
< 41,000
402 QI+ XtE01H 82,000 6,300 75,700
= 41,000
< 41,000
02 QIZEHEAMEEE (01X THA) 82,000 6,300 75,700
OHMAHFAIE JISEZASE (22—
&) 82,000,000 101 £ 82,000
= 41,000
< 41,000
ZOHCIAFAIY BI13FD| dE K& 6,300 0 6,300
= 3,780
< 504
i 2,016
402 2I2b X201 & 6,300 0 6,300
= 3,780
< 504
i 2,016
02 QIZEHEAMEEE(0IXTHA) 6,300 0 6,300
OTMAHNF=AIL SIIEHI| dEXH
6,300,000 * 100 & 6,300
= 3,780
< 504
s 2,016
ZOHOHFAIE 2SN (MERNCH wfel) 361,763 0 361,763
= 253,234
< 21,706
i 86,823
307 212+01 A 361,763 0 361,763
= 253,234
< 21,706
s 86,823
10 MSISXAIEEHER2IHIEX 361,763 0 361,763
O&CI20t2 29| XY (MESXN=F e
) 361,763,000 * 10 2~ 361,763
= 253,234
< 21,706
i 86,823
ZOHel EXL el X 73,330 72,244 1,086
= 36,665
< 7,333
s 29,332
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2A: =X
Nz FOHOl 22X =&

el el SXAIE X3

P = N
SA-BY.SASH) - RN - B ol &t S HIDE
307 e1z2tol A 73,330 72,244 1,086
= 36,665
& 7,333
= 29,332
05 22t &= 73,330 72,244 1,086
OZHe =XLXtel X
509,236& 1201 x12& 73,330
= 36,665
& 7,333
i 29,332
e ESXNF=0 X 961,492 838,605 122,887
= 673,044
& 57,690
= 230,758
307 212+l 961,492 838,605 122,887
= 673,044
S 57,690
= 230,758
05 22t E= 961,492 838,605 122,887
OZM 2#SXNAS0H X2
1,780,540 »45EH » 123 961,492
= 673,044
& 57,690
= 230,758
el HE0|SAAdH 2 X2 187,076 177,613 9,463
307 212tol & 187,076 177,613 9,463
10 M2 SXNALHE2HIEX 187,076 177,613 9,463
OZ H20ISANIME 1Al X2
43,742,000& x 1 A %42 | 174,968
OZM H20ISXNILEH 238 X2
3,027,000& 14 2= +42 7| 12,108
ZoHel F2E2SdE 249 X 216,503 212,102 4,401
307 212tol & 216,503 212,102 4,401
10 M2SXNALHE2HIEX 216,503 212,102 4,401
OFM=AESHEH lAHl XI&
50,125,750 14 A #4=2D| 200,503
OZeI=2AESHH 24l K&
4,000,000& 14 242 7| 16,000
=01 e 248 A& 184,200 174,000 10,200
307 212tol A 184,200 174,000 10,200
10 M STAEHE2SHIEX 184,200 174,000 10,200
O+=01SAdH 128| X2
40,807,250 * 104 A %42 7| 163,229
O+0{SHHE 2| X
5,242, 7503 x 1 2= +4 2 D 20,971
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=X

2 ZONCl 22X =&

?lr HOHQ SXAE X2

P = N
SA-BY.SASH) - RN - B ol &t S HIDE
ZOHI L Xl X1 (AIZEMIL Xtel ) 39,398 38,273 1,125

= 19,699
& 3,940
= 15,759
101 14| 39,398 38,273 1,125
= 19,699
S 3,940
= 15,759
04 JIZtN 22 NS 2+ 39,398 38,273 1,125
OZ O AlZEMEXtel XI&
1,004,388 301 x12& 39,398
= 19,699
& 3,940
= 15,759
LEMHEAMBIA BIRY X2 58,339 196,807 A\ 138,468
= 40,836
S 3,501
i 14,002
307 212tol & 58,339 196,807 A\ 138,468
= 40,836
S 3,501
i 14,002
05 QIZtRIE = 58,339 196,807 A 138,468
OZLEMENBIA HIEXM X
1944633 x25E 12 58,339
= 40,836
S 3,501
= 14,002
LM F2ESAEIA NS 221,674 0 221,674
= 155,172
S 13,300
i 53,202
307 212+l 221,674 0 221,674
= 155,172
& 13,300
= 563,202
05 QIZtRIE = 221,674 0 221,674
OZEHM =2LHESAEIA X
1,231,522 x 15 »12& 221,674
= 155,172
S 13,300
i 53,202
ALY Hied X 4,506 6,673 A2,167
= 3,154
& 270
= 1,082
307 212+l 4,506 6,673 A2,167
= 3,154
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=X
2 ZONCl 22X =&

?lr HOHQ SXAE X2

SA - F - S - Ba= 0f &t e HIDE
S 270
i 1,082
05 eIzt = 4,506 6,673 N2, 167
OAHNLE HI2H X 187, 7503 x2E 128 4,506
= 3,154
< 270
= 1,082
SEX JhsEo 2,313 1,542 7
= 1,619
S 139
= 555
307 212t01 A 2,313 1,542 7
= 1,619
S 139
= 555
05 QIZtRIE = 2,313 1,542 771
OESEX It 2,313,000 1 2,313
= 1,619
< 139
= 555
A &8 32,573,375 30, 172,281 2,401,004
= 21,803,875
Jl 287,115
< 2,277,328
= 8,205,057
= d22d 26,793,269 24,500,468 2,292,801
= 21,728,375
Jl 287,115
S 886,665
= 3,891,114
ColsTdA2E 18,810 18,810 0
201 £t 5,500 5,500 0
03 A2 S H 5,500 5,500 0
OL=XAL E2 & =378
100,000& *252] 2,500
OLQASXEAL FIHT HH =1L
50,0002 60 3,000
202 044 900 900 0
01 =W oLl 900 900 0
O IFXHAL =& 100,000 +92] 900
301 LBtENS 1,710 1,710 0
09 AL HIXI &S 1,710 1,710 0
oogiorg J1s ES =p
85,500& x20& 1,710
307 212+l 10,700 10,700 0
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FA S
M Lol=x
cell LE MERX CEREE
o = = PSEE
SA-BY.SASH) - RN - B ol &t e HI DS
N ARISTIMGEEX 10,700 10,700 0
OUfst=0lal At X2 10,700
OZd eolog A & 23 H2ae0ted
34 161,666 x60& 9,700
OZd ZRY T2 HUEUS &It
20,0003 *50 1,000
colol g #ARE 5,000 10,000 A5,000
307 212tol 5,000 10,000 A5,000
04 2IZHSHALALH 2 & 5,000 10,000 A5,000
OLQlol & A} 5,000,000& *12] 5,000
== Xs 21,258,930 18,922,024 2,336,906
= 19,133,037
& 425,179
= 1,700,714
301 Let2d3 21,258,930 18,922,024 2,336,906
= 19,133,037
& 425,179
= 1,700,714
01 Al Ed XM +5l= 21,258,930 18,922,024 2,336,906
OJIz=d=z XN& 1,771,577,5002 = 1204 = 21,258,930
= 19,133,037
S 425,179
i 1,700,714
ol #3380 X2 5,785 8,400 A2,615
& 1,157
i 4,628
301 Let2d3 5,785 8,400 A2,615
S 1,157
i 4,628
01 M2 2EE 6= 5,785 8,400 A2,615
orolds =g X2 20,0862 x24& =123 5,785
S 1,157
i 4,628
Ol LR A 3,907,756 4,060,898 A153,142
= 1,953,878
& 370,246
= 1,583,632
307 212tol & 3,907,756 4,060,898 A153,142
= 1,953,878
S 370,246
i 1,583,632
N AR SXIMNEEX 3,907,756 4,060,898 A153,142
OoLolgditel & ASIZ2SXAANY SHES
3,150,000& *1, 120 3,528,000
= 1,764,000
& 352,800

- 297 -




=N

X ZH -
o=

H i
o X

=
>

0l 1
e
HT Ol¥
(DNl
[
40

r

10

EEE

0

SN B CR(BH) - MRAY - BES 0l et

=[x

i

12H
Es
£
Ol
0

HJ

1,411,200
ColgXtel E AR ZS XA ALS Al A

= 7,930,000& x22H 174,460
87,230
17,446
69,784

H

olXtel & AISIESKEAIY =a)|2 &

ol (M RIMHHIEE) 25,662,000 x8H 205,296
102,648
102,648

A

(HSE)100MAICH 241 dXtel 2,400 2,400 0
1,200
1,200

M H1

307 212t0l A 2,400 2,400 0

1,200
1,200

M

M AIZIS XA E
K

O (H8)100
ssHl &

ES 2,400 2,400 0
A 248 LReAHS (HIE &
32) 200,000& 128 2,400
1,200
1,200

M1

SN USSHHL SsSHHLEMEA 2ENE 59,968 35,272 24,696
29,984
5,997
23,987

HH

307 glztol 59,968 35,272 24,696
29,984

5,997
23,987

H X

M ALZIZSXAMEE X 59,968 35,272 24,696
O=HECIZHR SSAE A NHIA

59,968,000 * 14! 59,968

29,984

5,997

23,987

M

010
il
S
Bl
ne
o
x
==
I>
=

et M = 1,800 1,800 0
360

,440

10

M

307 glztol 1,800 1,800 0

360
,440

M1

11 MIISEXAHEES 1,800 1,800 0
SSUMSHEAHIA 2ellt HRME =

150,000& 122 1,800

360

,440

M

100 MIAICH 01241 2XteIAmE (2AI12) 514,262 494,656 19,606
Il 257,131
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A =X
M3 Lol=x A
©R: L F MESE (che &S
= = X L=
SA SR (S) - MRAY - BAS il &t e RS2
s 257,131
307 S12t0I & 514,262 494,656 19,606
| 257,131
i 257,131
11 MSI=SXAMEE = 514,262 494,656 19,606
O(SUE)100MIAICH HHEALXI2IAI (SADI
3) BUES 3,150,000 155 488,250
| 244,125
i 244,125
O(SUE)100MAITH HEALRI2IALY HEol
A(MRMSHIELE) 25,662,000& 14 25,662
| 12,831
i 12,831
O(SUE)100MAIL HE AtelAted E 2|
350,000 14 350
| 175
o 175
LolgtEESMEIA XIJAS 926,758 900,608 26,150
= 641,460
L= 54,986
i 230,312
201 et Fy| 9,600 9,600 0
01 At 22|l 9,600 9,600 0
o= 2g2ds =
100,000 x8&H 12& 9,600
301 YPYBNZ 768 768 0
09 HALAIHIXIAZ 768 768 0
o2deds 29 8,000 8 128 768
307 SI2toI & 916,390 890,240 26,150
= 641,460
& 54,986
o 219,944
11 MSI=SXAMEE = 916,390 890,240 26,150
LolIdESSSAHIA 916,390,000 14 916,390
= 641,460
L= 54,986
i 219,944
AES=MHIA SAML B2SEX =2 91,800 30,600 61,200
= 27,540
i 64,260
307 QI2+0I A 91,800 30,600 61,200
= 27,540
o 64,260
11T AL SXAIE E = 91,800 30,600 61,200
OXNESSSAMHIA SAHA 82X ¥
150,000 x51H 128 91,800
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fAM: SN
M Lol=N =X
Cell b MERX (eto): &2
= = — X L=
SA SR (S) - MRAY - BAS il &t e RS2
< 27,540
o 64,260
Lol SEXNAE XN 5,780, 106 5,671,813 108,293
= 75,500
L= 1,390,663
i 4,313,943
LOIMEAE 2EXE 3,667,147 3,305,134 362,013
L= 1,157,528
o 2,509,619
301 YPYBNZ 3,667,147 3,305,134 362,013
& 1,157,528
o 2,509,619
01 A2 EE 3613 3,667,147 3,305,134 362,013
OMIt 2208 &3
5,408,364 & 250 « 14 1,352,091
OAN4d 2=250EIE RE=
8,905,496 & 250 « 14 2,226,374
L= 1,113,187
i 1,113,187
OLQIMEAE S22AX XES
17,736,400 x5 « 1A 88,682
& 44,341
i 44,341
Mot =oI=EXIAE 29 480,000 480,000 0
& 65,636
i 414,364
307 SI2toI & 480,000 480,000 0
L= 65,636
i 414,364
10 AL SEXAIEHE2IHIEX 480,000 480,000 0
OMIL= XA MY A 480,000, 000& » 14! 480,000
& 65,636
i 414,364
Lol=kz 299 620,042 617,846 2,196
307 QI2+0I A 620,042 617,846 2,196
05 QIZtRIE S 620,042 617,846 2,196
QLAZo=X2 22F 105,844,000 * 10 2 105,844
OLUZ =X 2 2124H] 514,198,000 11 2 514,198
Lol AR E =K 86,638 75,986 10,652
307 SI2toI & 86,638 75,986 10,652
10 AL SEXAIEHE2FHIEX 86,638 75,986 10,652
oLelstn 2 6,000,000 *1JH 2~ 6,000
OUistcelgl lHdl X
14,278,893& 10 2 +4=2 D| 57,116
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A =X
Hm: col=x A
Sl ol XA X EERE
SA SR (S) - MRAY - BAS il &t e RS2
Oistcelsl 23Hl XA
5,880,500 11 A +4= D] 23,522
22Y2d 435 13 8,100 8,100 0
201 Ler2gd| 8,100 8,100 0
01 AL 22l bl 8,100 8,100 0
oLz B3 60, 0002 * 1351 & 8,100
Z22Y 2% 2435 NA(F2Y 294 X)) 243,010 464,420 A221,410
& 45,002
o 198,008
307 QI2+0I A 243,010 464,420 A221,410
& 45,002
o 198,008
10 MSISXAIEEHER2IHIEX 214,435 407,270 AN 192,835
0¥RY =23 ss29|
250,000& *6H 2+ 12 18,000
OZ2Y 29| 196,435,000& 14! 196,435
L= 39,287
i 157,148
11 MSI=SXAMEE = 28,575 57,150 A28,575
OZd2Y Tz 24| 28,575,000 14 28,575
& 5,715
i 22,860
22Y 2% 245 XA (F2Y =322 2 18,968 31,926 212,958
Xt X&)
& 3,287
o 15,681
307 SI2toI & 18,968 31,926 212,958
& 3,287
i 15,681
10 AL SEXAIEHE2IHIEX 18,968 31,926 212,958
Od=zY slmzgzAe| 4 ML
2,109,000 *120% 2,531
oZ=2Y =glZ=z2 ) 22X XA
16,437,000& 14! 16,437
L= 3,287
i 13,150
LololaiEd ¥ s2s ME(Lolis 2% T21 4,200 6,000 A 1,800
gyl X&)
L= 1,260
i 2,940
307 SI2toI & 4,200 6,000 A 1,800
L= 1,260
i 2,940
02 QIZtBAAIEE X 4,200 6,000 A 1,800
OoLolstn Tz )3 2N
4,200,000 * 17 2~ 4,200
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A =X
M Lol=x
Sl Lol EXAE X2 CEREE
% = o= &
SN B CR(BH) - MRAY - BES Ol &t o S dImEET
< 1,260
o 2,940
Z2Y gyl o 224l X (=1) 302,001 282,401 19,600
= 75,500
< 67,950
i 158,551
307 QI2+0I A 302,001 282,401 19,600
= 75,500
< 67,950
i 158,551
10 MBISEXAIEHE2IHIEXR 302,001 282,401 19,600
OZ2Y HHIXA 200, 0002 13070 & 26,000
= 6,500
& 5,850
s 13,650
OZ2Y HLHIXA 1,600, 0002 *130H & 208,000
= 52,000
< 46,800
i 109,200
OZ2Y 2=HXA 523,0842 x1300H 2 68,001
= 17,000
& 15,300
s 35,701
3332 Z2Y AESXJAAY 250,000 0 250,000
402 QI+ X201 250,000 0 250,000
01 QIR 2ALS E R (KM E) 250,000 0 250,000
OZ=3el Y M= 250,000, 000& = 14! 250,000
d2Y JlsE2 XN2MD(ELEHI) 100,000 0 100,000
< 50,000
i 50,000
402 QI+ XtE01H 100,000 0 100,000
< 50,000
i 50,000
02 Q2R 2AILEE(OIMMEA) 100,000 0 100,000
OZ2Y JIsEZ(ELSHI) NIAMY
100,000, 000& 14! 100,000
< 50,000
i 50,000
cl 199, 384 252,384 253,000
FAAE 29 22 199, 384 252,384 253,000
H8X 23 179,384 232,384 253,000
201 et Fy| 123,384 123,384 0
01 At 22|l 79,344 79,344 0
OUHEHl ¥ A=l 1,496,880 5071 74,844
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2AM: SX
M Z@ze]

&l ZAAE 2F 22 (el &3
% = o= &
SN B CR(BH) - MRAY - BES Ol &t o S dImEET
03EEX ¥ 201g 2 22279
2,250,000 *20H 2~ 4,500
02 23224l 44,040 44,040 0
OZS4RX(S2Y) 2223
1,200,000 x12& 14,400
o=ty MI|tMEZ 120,000 x12& 1,440
Ozt ot ate| FAEs 200,000& =128 2,400
osoted g2asdl RAEs 900,000 «128 10,800
OTHEY U =og KX 24
2,500, 000& *20H 2~ 5,000
OXAXE KX 2l 10,000, 000& * 14 10,000
301 LB F 56,000 56,000 0
01 A2 EEE 062 56,000 56,000 0
o=y &d X33 400,000& *140A 56,000
oA E 20,000 20,000 0
301 YPYBNZ 20,000 20,000 0
12 JIEtE A3 20,000 20,000 0
OZdAY 2 Hazs 200,000& = 10021 20,000
Ha=X && 1,763,540 1,852,736 289,196
= 427,412
| 250,208
< 246,356
i 839, 564
M ASIEH S& 440,876 477,316 A 36,440
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12,6203 «60 Al 2+ 150%

50,0003 42|

1,336
1,136
200

H o

63,030
50,424
3,782
8,824

93,450

30,420

101 Q124H|

M H

63,030
50,424
3,782
8,824

93,450

A 30,420
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2,152,000 221 x102

H o

2,045,000& *22!

HH W

130,000& *22!10&

H A

110,000& #»221+10&

M H

60,0003 221 x10&

H A

40,0002 121103

H o

140,000& 221102

HH W

50,0008 221 10&

H A

300, 000& 2

M H

63,030
63,030
43,040
34,432
2,583
6,025
4,090
3,272
245
573
2,600
2,080
156
364
2,200
1,760
132
308
1,200
960

72

168
400
320

24

56
2,800
2,240
168
392
1,000
800

60

140
600
480

36

84

93,450

A30,420
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SA: =X
M HY2AAH|(SX)
Chel: 1A HHI(SXID) (el &3
- _ - &
SN ZH - S(S) - MRAY - BAS S dImEET
O&&AZ3 5,100,000& * 14! 5,100
= 4,080
< 306
i 714
CYAEE SgAtAZal(erAdl) (KHA) 46,779 67,716 220,937
101 214 H| 46,779 67,716 220,937
03 RIAHA2 2 E 5= 46,779 67,716 220,937
OPIE=t= 2,152,000 x2Q1 x2 & 8,608
QAIZteI=¢ 14,0002 *2E * 180 Al 2t % 150% 7,560
OZEE S It 1,291,000& +2H +23| 5,164
(OFSRUE= Eu] 130,000& »20!x2& 520
O = 140,000& 221 x2& 560
OFS R = 110,000& 221 x2& 440
oA 60,000 *2Q1x2 & 240
oxnA=< 50,000& x2Q1x2& 200
O=& 0l 200,000& x2H *123] 4,800
Qits¢ 40,000 *121x2& 80
osd2Rsdg 105,000 x2H x5 *150% 1,575
O ItE &ty 105,000& x2ZH =10 2,100
o=8¢3 90,800,000& *4.5% 4,086
(ONIE=Jg= 90,800,000& *1.65% 1,499
OFaFigcy=: 90,800,000& *3.43% 3,115
OFIIRYEE 3,120,000& *11.52% 360
OAEH 90,800,000 +0.015 1,362
O ESESE= = 4,510,000& 14! 4,510
MIHIEH XE2G (2] 127,584 126,576 1,008
= 63,792
= 12,758
i 51,034
101 Q124 H| 127,584 126,576 1,008
= 63,792
= 12,758
i 51,034
03 RIIAHA2 2 E += 127,584 126,576 1,008
OF &AL 21| 127,584
oJlga 2,100,000 *4Q1x7& 58,800
= 29,400
< 5,880
i 23,520
OmNa2y 1400002 %401 128 6,720
2 3,360
& 672
i 2,688
O&e=s< 110,000 42! x12& 5,280
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fAM: SN
B #E2ARY(SX D)
CHol: QI 2| (=X ) M)
- _ - PSRE |
SN BB S(E) - MRAY - BAS S 2
= 2,640
L= 528
i 2,112
O 60,0003 +42! %123 2,880
= 1,440
& 288
i 1,152
OFAZ A 130,000& 4021122 6,240
= 3,120
& 624
o 2,496
O42E U ENNYS
300,000 x4 21«12 14,400
= 7,200
L= 1,440
i 5,760
O&sZl 100,000& 4021128 4,800
= 2,400
& 480
o 1,920
ON&E2Y 300,000 x4 21«12 14,400
= 7,200
L= 1,440
i 5,760
OX™ S IHAY| 2,760,000& <401 11,040
= 5,520
& 1,104
o 4,416
O&&0HI 94,490& *401%83| 3,024
= 1,512
L= 302
o 1,210
MIHEH XE2Z(l2A48]) (XHAl) 97,042 85,008 12,034
101 el 24| 97,042 85,008 12,034
03 RIIHAZZRE S 97,042 85,008 12,034
O MHE agA Q2] 97,042
OFSAEA D23 2,100,000& »4Q! x5 42,000
OXIAEA D23 2,100,000 121 x6& 12,600
(OFSI=S = 900, 000& 52123 9,000
OAIZE2l = 13,0002 #5021 120 Al 2% 150% 11,700
OaItE 4| 130,000& 52110 6,500
OZEFIH| 1,300, 0003 *521%23| 13,000
O4tiEe = 2,242,000 =14 2,242
SEArdIZ2lAF 218l K& 65,712 65,120 592
= 32,856
i 32,856
101 Q124 H| 65,712 65,120 592
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2M: SR
M HHY2IHGHI(=X)
el ol (=X (St A2
SN B S() - MBAY - BAS 01l &k o e HlDS2
= 32,856
= 32,856
03 RO HLZZ2XE S 65,712 65,120 592
OSE At ZelAb 21| XI& 65,712
oJl== 2,100,080& x22!x12& 50,402
2 25,201
= 25,201
Oxu=22g 12,658& *10A| 2tx201 %12 3,038
2 1,519
= 1,519
O &¢I 120,000 x221x12& 2,880
2 1,440
= 1,440
(O)SESF={G 3=y 391,330& *x221x12& 9,392
2 4,69
= 4,696
S At 22l A 212481 X2 (XEAI) 32,616 41,354 A8,738
101 2124 | 32,616 41,354 A8,738
03 SIHAZZXE 32,616 41,354 A8,738
O S ehAtell 2t el At gl X2 (KA 32,616
(OFSF=sa= 788,000& #2201 x2 & 3,152
OFEFOt| 1,260,500& 221 x2& 5,042
O A ZAlY| 130,000 x221x12& 3,120
O&ERSY 140,000 x221x12& 3,360
O&¥d=Y 110,000 221 x12& 2,640
ORIF-E= 60,000& *201x12& 1,440
(ORI, 50,000& *201x12& 1,200
ONEx 150,000 x221x12& 3,600
o422 AMERX 377,580 x201x 12 9,062
AECHESFH SRR (2! 30,573 30,372 201
| 30,573
101 2124 | 30,573 30,372 201
| 30,573
03 RO HLZZXE S 30,573 30,372 201
O A AL O A 30,573
oJl== 1,950, 0003 »121x9& 17,550
| 17,550
(OFSR = 140,000& x1Q1x12& 1,680
| 1,680
[OF ==, 110,000 =121 x12& 1,320
| 1,320
ORIF-E= 60,000& *121«x12& 720
| 720
OF A ZAlH| 130,000& x1Q1x12& 1,560
| 1,560
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A =X
M HY2AAH|(SX)
el ol (=X (St A2
SA SR (S) - MRAY - BAS il &t e RS2
O4li2E 2 exmga
340,000 x 11«12 4,080
| 4,080
OogsZl 100,000 x 121 x12& 1,200
| 1,200
(OPN R 50,000& 121 %123 600
| 600
O&&0HI 1,863,000 * 191 x14] 1,863
| 1,863
OtsSXI WAL X2 (212dl) 43,537 43,792 A255
= 13,016
& 2,603
o 27,918
101 1244 43,537 43,792 A255
2 13,016
L= 2,603
i 27,918
3 RINHAZZ2 N E 43,537 43,792 A255
OO0tS= X WAL 21248 K& 43,537
oJles 2,169,333& 121+ 1204 & 26,032
= 13,016
& 2,603
o 10,413
(OFSI=t = 1,082,565& *121%23| 2,166
OZEEFIH| 1,299,078& *121x23| 2,599
OFAZ A 130,000& 1211200 & 1,560
O 140,000& x 1211200 & 1,680
(OFS = Ea= 110,000 x 121« 1200 & 1,320
OFIE-Ea= 60,0002 x1C1x12J1 & 720
(OPNEE= 50,000 =1Q1+12J0 & 600
O&& 0l 150,000 *62] 900
ON&E2Y 40,000 =11 =120 & 480
OFgaesg 105, 280! #5001 53
O IHE &ty| 105,280& 12110 1,053
O4UEE (O1) 364,420 x 1211200 & 4,374
Ot=sEsdga ozl 31,460 0 31,460
= 25,168
L= 1,888
o 4,404
101 Q124 H| 31,460 0 31,460
= 25,168
L= 1,888
i 4,404
03 RINIHAZZRE S 31,460 0 31,460
Olt=Esd223 21Ab| 31,460
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SN EHY - (SH) - MBAY - BAS O &+ 04 e HRS2
(OPIE=r=: 2,150,000 x12& 25,800
= 20,640
= 1,548
= 3,612
(OFSFmEt=; 1,080, 000& *23| 2,160
= 1,728
= 130
= 302
(@RS 3,500,000 x1H 3,500
= 2,800
= 210
= 490
Ols2sdMeY A olAH|(XHA) 22,032 0 22,032
101 21| 22,032 0 22,032
03 RIHL=2=2 X2 22,032 0 22,032
OAI2t2| =& 13, 100 & * 180 Al 2t*150% 3,537
OYESF I 1,288,000 23| 2,576
O™ HZAH| 130,000 = 12& 1,560
OXMFE+H 140,000 = 12& 1,680
O&eAx=E 110,000 x12& 1,320
(@EIFEES=, 60,000& *12& 720
(@PNEEESI=, 50,0002 ~12& 600
O=&0H| 200,000 *12& 2,400
(@ISt 300,000 *1H 300
OHIIE AtH| 105,000& =102 *1H 1,050
O=01d= 43,900,000 4 . 5% 1,976
olnEggd 43,900,000& *1.65% 725
(OFaAgk=x 43,900,000 *3.43% 1,506
O RIYEH 1,500,000 *11.52% 173
OAMHEE 43,900,000& *x0.015 659
OEAZHEZZ 1,250,000 * 1A 1,250
7 (=X D) 93,476 107,358 ~13,882
A (SX 1) 93,476 107,358 N 13,882
B2 AH| 48,516 59,318 A 10,802
01 At 22l 48,516 57,158 N8,642
O get==H| 29,880,000& x 14! 29,880
O=2&H| 11,520,000 » 1Al 11,520
oYXz 7,116,000& x 14! 7,116
202 44| 38,900 41,800 A2,900
01 2L I 38,900 41,800 A2,900
OYRF&X IS0l 38,900,000& x 14! 38,900
203 R EAY| 6,060 6,240 ~180
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2A: =X
M HEHS2H9AH| (22X D)

chel: J|2ZHI(SXID) (el &3
SN B CR(BH) - MRAY - BES 0l el e HRE2

04 EN2SLRFAH| 6,060 6,240 A 180
OFAM2IHRFEH| 505,000& x12& 6,060

Heegs(=Xm) 650,557 792,936 A 142,379

LHEHH XS (=X 1) 650,557 792,936 A 142,379

HEHAHX S (S X L) 650,557 792,936 A 142,379

701 JIEtIHSHES 421,374 390,618 30,756

01 JIEtSIHEES 421,374 390,618 30,756
O2A=2WHIIS(S)EE= 421,374,000 * 14! 421,374

[(VZPIETSE = 229,183 402,318 A173,135

01 JI=d&E=S 229,183 402,318 A 173,135
OLe=XlIas NE= 202,919, 000& =14 202,919
OQFMA=XIIz HE3 11,264, 0003 * 14 11,264
OLHESIIS MNES 15,000, 0003 * 14! 15,000
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